

(2) $\lambda^2 - 6\lambda + 9 = (\lambda - 3)^2 = 0 \therefore \lambda = 3$ (重解) $\therefore \underline{y = (c_1 + c_2 x)e^{3x}}$

(3) $\lambda^2 + \lambda = \lambda(\lambda + 1) = 0 \therefore \lambda = -1, 0 \therefore y = C_1 e^{0x} + C_2 e^{-x} \therefore y = C_1 + C_2 e^{-x}$

(4) $\lambda^2 - 2\lambda + 2 = (\lambda - 1)^2 + 1 = 0 \therefore \lambda = 1 \pm i \therefore y = e^x (C_1 \sin x + C_2 \cos x)$

(5) $\lambda^2 + 3 = 0 \therefore \lambda = \pm \sqrt{3}i \therefore y = e^0 \cdot (C_1 \sin \sqrt{3}x + C_2 \cos \sqrt{3}x) \therefore y = C_1 \sin \sqrt{3}x + C_2 \cos \sqrt{3}x$

(f) $\lambda^2 - 4\lambda + 6 = (\lambda - 2)^2 + 2 = 0 \therefore \lambda = 2 \pm \sqrt{2}i \therefore y = e^{2x} (C_1 \sin \sqrt{2}x + C_2 \cos \sqrt{2}x)$

$$+ \frac{1}{x} \frac{d}{dx} \left(\frac{dy}{du} \right) = -\frac{1}{x^2} \frac{dy}{du} + \frac{1}{x} \left(\frac{d}{du} \left(\frac{dy}{du} \right) \cdot \frac{du}{dx} \right) = -\frac{1}{x^2} \frac{dy}{du} + \frac{1}{x^2} \frac{d^2 y}{du^2} \quad \text{This is 5.11} \quad \text{XX}$$

$$x^2 \left(-\frac{1}{x^2} \frac{dy}{du} + \frac{1}{x^2} \frac{d^2y}{du^2} \right) - x \cdot \frac{1}{x} \frac{dy}{du} - 3y = 0 \quad \therefore \frac{d^2y}{du^2} - 2 \frac{dy}{du} - 3y = 0.$$

$$\lambda^2 - 2\lambda - 3 = (\lambda - 3)(\lambda + 1) = 0 \therefore \lambda = -1, 3. \quad \text{for } y = C_1 e^{-u} + C_2 e^{3u}$$

$$\therefore y = C_1 e^{-\log x} + C_2 e^{3\log x} = \underline{C_1/x + C_2 x^3}$$

(2) $u = \log x \in \mathbb{R}^+ \cdot (1) \in \mathbb{R}^+ \cdot \frac{dy}{du} - 4 \frac{dy}{du} + 5y = 0 \therefore x - 4x + 5 = 0$

$$\therefore \lambda = 2 \pm i \quad \therefore y = C_1 e^{2u} \sin u + C_2 e^{2u} \cos u \quad \therefore y = C_1 x^2 \sin \log x + C_2 x^2 \cos \log x.$$

(3) $u = \log x \in \mathbb{R}$. $\text{D} \in \text{D} \begin{bmatrix} 1 & 1 & 1 & 1 \\ 1 & 1 & 1 & 1 \\ 1 & 1 & 1 & 1 \\ 1 & 1 & 1 & 1 \end{bmatrix}$. $\frac{d^2 y}{du^2} + 4 \frac{dy}{du} + 4y = 0$

$$\therefore \lambda^2 + 4\lambda + 4 = (\lambda + 2)^2 = 0 \therefore \lambda = -2 \text{ (重解)} \therefore y = (c_1 + c_2 u) e^{-2u}$$

$$\therefore y = (C_1 + C_2 \log x) e^{-2 \log x} = \underline{(C_1 + C_2 \log x) / x^2}$$

(4) $y = \log x$ とき (1) の変数 $u = \log x$ とおくと $\frac{d^2 y}{du^2} + 6 \frac{dy}{du} + 11y = 0$

$$\therefore \lambda^2 + 6\lambda + 11 = (\lambda + 3)^2 + 2 = 0 \therefore \lambda = -3 \pm \sqrt{2}i \therefore y = e^{-3u} (C_1 \sin \sqrt{2}u + C_2 \cos \sqrt{2}u)$$

$$\therefore y = e^{-3 \log x} (C_1 \sin(\sqrt{2} \log x) + C_2 \cos(\sqrt{2} \log x)) = \underline{\underline{(C_1 \sin(\sqrt{2} \log x) + C_2 \cos(\sqrt{2} \log x)) / x^3}}$$